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. Maximum marks : 80
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Read the follo;ving instructions very carefully and strictly follow them. . 1 the
] ‘ testions in
@) Question Paper comprises six sections - 4, B, C,D, E and F. There are 37 qu
question paper, A questions are compulsory.
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b8 - & & mo7 g g g

20 TF S formctia ym o g9 & g g1 o w7 £
(i11) Section B - Question No.

21 to 24 are very short answer type questions. Carrying 2 mark
each. Answer to these questions should not exceed 40 words.
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1.

ULSECTION -A | Qug -5
TIPLE CHOICE QUESTIONS

Who were the Junker T“Eﬁmam

(a) WeaVErs SISt

(c) Aristocfacy (b) Soldiers

SiRd ®F 2 (d) Largeland owners
(a) T

(©) Fol i E‘;’) S;ﬁ W

Match the im ven
por 's from C
tant years from Column A with related events given in Column

B. Cho .
Aose the correct answer from the options given below.

B
Eg)) 1332 (@) N?n-Cooperaﬁon Movement was called off.
(I) Civil Disobedience Movement re-launched.
(C) 1932 (IIT) IIRound Table Conference.
((]))) 1931 (IV) Firstindependence day.
ptions:

(@) (A)-IV), (B)-(1), (C)-(1), (D)-(I)
(b) (A)-(II), (B)-(IV), (O-), (B)-()
© (A)-@V), B)-0), (©)-1), (D)-(I
(d) (A)-1), (B)-(D), (©)-O), (D)-(IV)
W‘E’ﬁmm%ﬁ@aﬁﬁm‘@’ﬁﬁﬂéﬁﬁmmﬁﬁmﬁﬁ1 I=

forg T Foredt & T S I
= “a
(A) 1930 (1) S ST 'WQWWI
B) 1922 (e o ST A
(©) 1932 (11 foeia et A S
(D) 1981 )

: ), (©-, -1
@ @ OO, Or0




Study the picture and answer the question that follows :

(b) Slaves for trade /auction,

(c) People waiting outside the bakery for bread

(d) People at the railway station.
o=t =1 stearm =y aﬁzﬁmﬁﬂf@awmw%h

ﬁwﬁerraaﬁaaﬁqmmmm%ﬁmaﬁmmaﬁmaqmwﬁm%?
(a) =nfHes ToRiE & wrferg i)

(b) AR & fere T

(c) 9 % SR ST F fow Fa9R = iy

(d) Y8 R W @S Al

038-SS 4
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Note : The followin
Q.No. 3

To which centur
traced ?

(a) o6th Century
(b) 7th Century
(c) 8t Century
(d) ot Century
e fm?” TG W9 Shelel Woe WA 3 o oI WX gianerd BTl o e €1
w.ﬁmmﬁ%ﬁqﬁ%ﬁﬁmﬁﬁwmﬂﬂwmm%?
(a) 6 v
(b) 7 i vraml
(c) 8¢ vt
(d) 9= Tl

& question is for Visually Impaired Candidates only in lieu of

Y the long distance spread of disease-carrying germs may be

4. Arrange the following in chronological order :
(I) The first printing press came to Goa with portugese missionaries.

(I) Chinese paper reached Europe through the silk route.
(III) The first printed edition of the Ramcharitmanas of Tulsidas appeared.
(IV) Buddhist missionaries from China introduced hand-printing technology to

Japan.
Options:
() (1), (1), () & V)
(D), (IV), () & (1)
€ @), @, @& (1)
1), (1), (IV) & (I1D) ,
@ .o P
0 mﬁﬁqwgﬁwﬁﬁmﬁﬁ%mwhmm ol |

& <t BTt 0 e
(1) g AT mmg&a@wwﬁmwn

¥ AR
gg;;ﬁqawﬁ@ i.%wﬁ—gqﬁmaﬁm’qﬁgﬁmiﬁl
faercd

an, @ F V)

air (1)
®) @ V) (I1I)
© @), (1) 3T ()

(a) (HI)/

R Tg, T |l WD N T T ol e

@ @, O ) R (HI,)__WM_.,,MW
i P 5




5,

Identify the type of crop with the help of following features -

(a)

Staple food crop of a majority of people in India.
Requires high temperatures above 25°C.
Annual rainfall above 100 em.

Wheat () Rice (c) Millet (d) Maize

ﬁﬁ%ﬁ@aﬁm\%ﬁaﬁmﬁ HYe % YRR i TEH hi -

L

(@)

WA | sttt S o wrem |
ST & T 31 9I9mT 25°C % S e g & |
S Jui 100 A, A arfer

] (b) =T (c) HiI S (d) we

Which of the following option is INCORRECT with regard to Joint Forest
Management (JEM) programme ?

()

(b)
()
(d)

It depends on the formation of local (village) institutions that undertake
protection activities on degraded forest land.

Members of these communities are entitled to cash benefits from the forest.
It came into existence in 1988.

The first resolution for joint forest management by the state of Odisha.

T o e Friwd & e # Frefeted ¥ ¥ i a frwer o 2

g el o Tt T T FeRArl R TR et & S aife o 35 s 3 v et
gl

= el % GIE T W TS AW F TR § |

7 1988 H sifiaca # o

o o WeEA 1 el TR ST T W gy

(WY



7. Match Colum

- l\ 1 . = »
gven beloyw, A With Column B. Choose the correct answer from the options 1

Colum
n
A Column B

(Type of Soi)y

(Characteristic)
('A) Latt’fl'ito s0il

()  Containadequate proportion of potash, magnesium

and lime.
(B) Black soil
(11) Intense leaching due to heavy rain.
(C) Forestsoil
(D) Arid soil

Options:

(111) Lacks humusand moisture.

(IV) Loamy and silty in valley sides.

@) (A)-), B)-), (©)-1v), (D)-(11)
(®)  (A)-(m), (B)-(1v), (©)-(), (D)-(1)
(©)  (A)-V), (B)-(1D), (C)-(1), (D)-(I)
(@) (A0, (B)-(1), (O)-(1m), (D)-(IV)
et T 1 e wiem ot @ 51 9 feg o forredl & @ & SR IR

HAAT HieTd ot
( gt 1 v ) (W&T) ( fetear)
(A) T T (1) e der, A SR T v Sa # A T
(B) el T (1) T =i | Srcafern e |
(C) T (I11) T ST Tt Y 1= hel Bt €
(D) el 73 (1) 9 iR faeeer At €1
faered

(@) (A)-), B0 (O)-AV), (D)-()
®) (A1 (B)-(1V), (C)-(1D), (D)-(1)
© BV (B)-(1), (©)-() (D)-(1)
@ (A-0 (B)-(11), (C)-(Ill),m(—li).—“(“l'\'f_)m

S

BN o T
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8- Which of the following is INCORRECT statement about the French speaking

people of Belgium ?

(a) 59 percent French speaking people live in Wallonia region.

(b) They are relatively rich and powerful.

(c) They are in majority in Brussels.

(d) French speaking ministers are equal in the central government.

st 3 it et c 35 ok A Fraffad 3 3 B 6 5 T © 7
(a) 59w Frer er At @i et & H @ €

(b) & TN FoTewes &9 9 ] WY AR AR €|

(€) 9T wgaa & §1

(d) SHiETEr At w5 e e H wHH

In local self-government institutions at least one-third of all positions are reserved

for whom ?

(a) Scheduled Caste (b) OBCs

() Women (d) Scheduled Tribes

TR S et SeeE H Tt wd ¥ § w6 @ % T e v feee o et 7 2
(a) eTHfem wfd (b) st

(c) wfeemd (d) STHfea S

10. Which of the following statement s true with regard to the meaning of Communal
Politics ? |
(a) The followers of different religion belong to one community.
(b) State Power cannot be used to establish the domination of one religions group

over others.
(c) Religion is the principal basis of social community.

(d) Their fundamental interests are not same.

givertass Terit 3 e % Heiy ¥ frefafed § § i @ wem v 772

@) ST 3TETT T B TR @ el Al Tk & W o B |

(b) @Wwwwmgﬁwmﬁmwﬁmmmﬁm
1 Eehell © |

© qﬁmwwmaﬂuﬂ%l

@ mﬁmﬁa@ﬁ@ﬂﬁm%l
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12.

ing pairs is correctly matched ?
LIST. | y

LIST - 11
(Party) (Year of Foundation)
Eli; " ujan Sama payyy 1985
© AOHE:}miSt- Party of India-Marxist 1965
(d) atio;l:l .Tl‘mamool Congress 1998
st Congress Party 1997
0 gt e -
Tl -1 T - 11
(it e ) ( T T Y )
(@) T 1585
©) T e s s 1965
() st e T Hidrg 1998

ments marked as Assertion
odes provided below -

Democratically elected
keen to address the
them to.

Reason (R): Democracy always seeks welfare and social-
(a) Both (A) & (R) are true and (R)
(b) Both (A) & (R) are true but (R)
(c) (A)is true but (R) is false.

(d) (A) is false but (R) is true.

(A) and Reason (R). Mark your
answer as per the ¢
Assertion (A) : governments do not appear to be as

question of poverty as you would expect

economic equality.
is the correct explanation of (A).

is not the correct explanation of (A).

MWWW%Wﬁﬁ%ﬁ?ﬁW%I %ﬁqmméammw

Jifera |

3R : m@@ﬁﬁmwm%wmmméﬁﬁw
T ST T I 7 o S 3 ey

N—— meaﬂiwﬁﬁw&mmﬂm%l

(a) mmﬁtwﬁw%aﬁtm,mmﬁwmﬁl
(b) 3feRert SR RO T e ¥ W R, arfrerer o
(c) 3R T § T ShINUT 376 ¥ |

(d) AR ST § T HUT T B |

& = T T
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r sharing pest explains power

to Owe - . .

nts related ©OP ugh participation in
1

ups?
oup ntal pO

13. Which of the following stateII}e
sharing amongst different social 8T i
(@) They have a share in governm
governmental committees. o mm
(b) This method is used to give minority C;)njcip
(c) Thereis division of power am origs=2* xercise U
(d) Itensures that none of the organs cane o forf¥el
T ¥ AR § Wy Frefafaa § 9 B AP
& FCIR B GG TSI} T Bl © 3 mﬁ"m’ﬂﬂﬁa’;{é'%'
(a) TR F i ghfal & wiel ARl Waf : ﬁgﬁmﬁg{:@mﬁﬁﬁﬁi g
(b) T T ¥ TR ¥ g SewrEh GEE H

() TR S el sive - fauTe € € N
(d) == Qiifvaa we & o g off o Sf T Bl ST 05 i

Wer th

ties a fair share n pOWSE
un

14. TABLE1.6 SOME DATA REGARDING INDIA AND ITS NEIGHBOURS FOR 1
2019
Gross Mean Years
National Life of Schooling HD}II RaTis
Country Income (GNI) |Expectancy |of People tn the
per capita at birth aged 25 and worid
(2011 PPP §) above (2018)
Sri Lank
I r;i anka 12,707 77 10.6 73
ndia 6,681
69.7 6.5 130
Myanmar 4,961 67.1 5.0 Y e
_ - 148
Pakistan 5,005 67.3 T\
Nepal 3,457 70.8 Ti—
Bangladesh 4,976 726 | —— e
Source: Human Develo T -2 \W
: pment Report 2
Progtaniine New York I 020, Unjteq Nationg Development
According to the given table which of the follow; ’
HDI Rank ? OWINg countrieg 1,
as second lowest

(a) SriLanka (b) India (©) Myanm
a@m%mﬁwﬁf@aﬁamaﬂmm% (@) Nepal
(a) e (b) R (©) g U o e %

038-SS




15.

16.

o))
=
)
®]
—
wn
@
(@)
-t
c
»
5.
Q
>,
~
—
R
~

M

1973-74 2013-14
Primary [m:m] Secondary || || || Tertiary

Study the given bar graph carefully and answer the given question.

Conclusion drawn from the bar graph diagram are - the highest share in GDPin
the year 1973-74 is from - '

(@) Primary sector - : (b) Secondary sector
(c) Tertiary sector (d) Both Primary and Tertiary sectors

T T IR U1 1 eAmgEE- steEe Y iR fa T e S A |

SR T Y e T e ¥- o 1973-74 § et S SeE H welite e
&5k 1 | |

(a) wefEE & (b) Tidtaes &

(c) T & (d) =i wmafw SR a8

Find the odd one out from the following options: | "
(a) Reliance industries, TISCO, ACCLtd.

(b) TCS, Infosys, ITC

(c) Indian Oil, ONGC, BHEL

(d) Hindustan Lever, WIPRO, ICICI |
freferfia faemedi & 9 T <1 fafed & -
(a) Teomed e, foel, T fefies
(b) SETH, BRI



17. Fillin the blank. Criteria use
Nature of Work tivity

ial service 8¢

. SOC
Secretary of a Housing Society

?

A housewife looking after the house hold

(a) Farming activity (b) P
(c) Non-economic activity (d) E

FCES SR et
HAGS

olitical activ'if}"
conomic activity

ElRkeaRCan | e T e
T BRMET giEet & gieg e
TfEult §RT ¥R Ft @Y ?
(2) Ff e (b) At
(c) TR-3Tfes (d) onfefe wE

Mohan and Sohan are small farmers from Muzaffarnagar. They have takenloans 1

of 30,000 from different parties. Mohan has taken credit at 1.5 percent per month
interest from a money lender, while Sohan has taken credit at 8 percent per annum
from a Cooperative.

On the basis of the given information choose the correct option

(a) Sohanis better because he receives more interest.

(b) Mohan is better as he does no paper work.
(c) Sohan is worse off as he pays more interest.
(d) Mohan is worse off as he pays more interest,

Wﬁw%m%@ﬁﬁmﬁ%lr@ﬁw_w ~ ,
fear g1 ﬁm%wwm.smma:mmmq@%\%ﬁ%iﬁ
TEHIT T | 8 Wher Ui o A 3w oy R
< T SR o SMUR TR W fohed o1 w52 -

(a) W& B © Hiifen S 37feh = Frerar 3

(b) %W%W@WWW@ﬁmﬁl

18.




19. Which of the fg]

(a)
(b)
()
(d)

1
PRt 3 9 i sy o

(a)
(b)
(c)
(d)

20.

low; _
g Indian industries has been hit hard by globalisation ?
manu;‘.acturing

on tec
Toy makin g

Transportation techno

Garment

InfOl‘mati
hnolo gy

E&iu AT
TR Frer SFaftertor @ it g yonferd ge € ?

I e
e sy

IREET Wiy

Which of the following statements are correct about Special Economic Zones

(SEZs) ?

. The companies who set up their units here get a tax exemption for initial 6
years.

II.  They have world class facilities for elecricity, water, storage etc.

III. The companies who set up their units here get a tax exemption for initial 5
years.

IV. Only central government is setting up SEZs; to attract foreign investment in
India.

Options:

(@) ITandIl (b) IlandIII (©) IandIV (d) OandIV

frfrfad o § FH O Fo ol ot & % Wed # v §2

< b e T g TR el § 5 et 6 = % fer e g rerdt

1.
T

1L ﬁwﬁﬁ,ﬂ,@%%ﬁnﬁmﬁgﬁaﬁ%

I Gﬁﬁqﬁﬁaﬁmmwﬁﬂw%ﬁ@&mﬁsaﬁ%ﬁﬂwgw
7

i Wﬁmmﬁmmmwamwmﬁwaﬁw
T W T

) I;ﬁTH (b) 11 3R I (c) IsRIV (d) Haﬂm)

g A

T it 13
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SECTION -B
VERY SHORT ANSWER QUESTION

@ug - ™
arfer g S 9o

2X4=8

i s in India.
21. Mention any two impaCts of Manchester imports on the cotton weaver 2

TR el R R e s 3 el @ ol 1 56 I

22. Write about any two problems faced by local governments.

TG TSR & GO o7 ool foredl o woenei & an H fafaw |

23. Write about first two phases of treatment of industrial effluents.

OR

How industrial pollution of fresh water can be reduced ?

3ATeiifiTe 27afeTE & e % YU9 < =R i e Sty |

YT

ST TEUU § TS el 1 hy SR ST Rl § 2

24. Why did Indian government put barriers to foreign trade and foreign investment 2

after independence ?
m%aﬁwm%ﬁfmwmwﬁaﬂm ; rqw 7
R e ‘*—1¢4 e 5[“ 1 -



25.

26.

27.

28.

29.

S SECTION -C
H
ORT ANSWER QUESTIONS
Qug -1
T ST W 3x5=15

How diq
the ideg
S of gc; .
common People after mseC{)ent.lstS. and philosophers become more accessible to 3
€gInning of print revolution in Europe ?

OR

Write abo
ut
the three shortcomings of manuscripts

A9 A T sy ‘ | ,
SRR TR a1 St ofe areifirhi 26 ferame s @i 3 fer sifereh

argfatadt it = wiw ¥ o § ford

\I/I\.l/:li.te about any two merits of railways and any one problem faced by railwaysin 3
ia.

Yo ¥ el S ol oI Yo gRI e S S At e T wmen & R | fafe

What are the basic functions of foreign trade ? Mention any three points. 3
foreft oI o I H HE 2 faw T e & e H Tl i SRl i SeRg SIS

" modern democracies pOwer sharing arrangements can take many forms." Write 3
aboutany three such forms.

‘.mmmmﬁﬁwﬁmﬁﬁmmam%w .

%}?Q@fﬁﬁ‘éf?ﬁﬁﬂ%aﬁﬁml R

Why is the tertiary sector becoming more important in India ? Explain by giving 3
y is

three reasons- ' - foR=dt 1 RO Al S8E B
. yfeyer TR0l B el ST TR '
¢ A & -

15




S
STION

@vus - " 5)(4:20

et wed W |
j.! Tosupport ¢
ce t Of SW?ra]
30. 'All social groups were not moved by the absuaﬁt Cgir:/il %iSObedlence IHOVEmERE
. the given s%elatenlient highlight the limitations of the
in India.

31.

OR -

. y eration Movement in
'The middle classes played an important role In Non: Cogrlzt slowed down in the

the cities”. Explain. Why do you think that the movem 2+3=5
cities ?

el W e T e s § e T & fie T T T R FA

% T wfama gem stidem &1 wmel o SR A |

ST

YR W e STideH | HeAw ot 3 oten i g 1! e wifee | el H 9
3T i i gam 2

Why do we need to conserve our forests and wildlife ? What are the maj ject
. toc ? in objectives
of the Indian Wildlife Act (1972) to protect habitats ? )

- 2+3=5

e o7 9 aik in conserving forests and wild Jifo, = 2+3<5
EE| awsﬁaaaﬂwwmaﬁmﬁm 5
(1972)WWWﬁ§W%fWW3§m§' R 71 St sifufyay
3teraT

Wﬁaﬁf%m%aﬁﬁ%ﬁm. T aik .
ST el e et kA, T S et g

038-SS T el i




33.

u
Party. Mean by, Politica]
a 0
party ? State any four ideologies of Bhartiya Janta
1+4=5

OR

Enum
erate t}
rs. Wri e steps .
Iite any two Su;aléen. in India for reforming the political parties and its
gestions which can further boost such reforms. 3+2=5

REEIRED
MM R? ey
S T 5 Repd TR fere el <l Serd whifeTl |

YAl

TSR Tl 3iik

: 3ok e o '

forg | =1 ﬁq'(%‘mqﬂﬁﬁmmaﬂ?mﬁaﬁ [ fereden
2 T W QYRS = iR g | v § T 59 H i

Different :

given S’CatIe)Ier?gtevl;iat‘}fle different notions of development or progress.’ Explain the

only on rains fo 1 ?egard to notion of development for a farmer who depends
r growing crops and an educated youth from rural area who aspires

for a better life.
OR

untries ? Why Kerala has alow

J what is the positive outcome of proper functioning of
3+1+1=5

in some states ?

What is the criteria used by UNDP to compatre o

infant-mortality rate an

Public Distribution System

‘W—W@Tﬁaﬁmmmﬁr%aﬁﬁ e orer e A ¥ 1 T TR ST

S 3 e et A e Srgery ST Y STEBIEN T e T 0 % RIfERe
° %#dﬂﬁmmmmaﬁwwﬁn




SECTION -E dx3=1
" CASE-BASED QUESTIONS -
w@ug - ¥ , follows: 4
that 10
34. Read the source given below and answer the quesrt:é); s ¢ ontrol, N appleon set
Within the wide swathe of territory that cameé ud Jlrea dy jntroduCed mFranc.e,
he ha d democracy in

about introducing many of the reforms that
jeon had, n

Through a return to monarchy Napo . ed revo
France, but in the administrative field he ha ; The Civil Code of

in order to make the whole system more rationat , ..t o]] privileges based
1804 - usually known as the Iil apoleonic Code - did away Vglgt : right i % i,
on birth, established equality before the law and secure1 e Diteh Republic,
This Code was exported to the regions under French cont'rO ' lified administrative
in Switzerland, in Italy and Germany, Napoleon Simp 1 lf o serfdomand
divisions, abolished the feudal system and freed peasants 110

manorial dues. i
34.1 Mention any one reform introduced by Napoleon i.n the. DUtC}} Republic,
Switzerland, Italy and Germany apart from the ones mentioned in the given SOUICe.

34.2 Write any one measure taken by Napoleon that facilitated the movement and
exchange of goods and capital from one region to other.

34.3 Analyze the reasons why the initial enthusiasm of welcoming French armies as
harbingers of liberty by the local population soon turned to hostility. Give 2 reasons.

S ferw T B B TR SR R T v % S A -
W%Wﬁ@rwmmaﬁm@mgmﬁsﬁmﬁﬁ%mﬁ
et S ST e S 0T | S ST ST et e A e ol St A
Forer o | T TR 15 S SRR gl ohr SRR o et ifeh 1 et S1fereh
THETa 3 HIe o7 U | 1804 T TR Higar fF STHAR W YAiferem ot digd & ™
B ST S, 3 S TR SR FrSrofeRR e S 9| S S o wHe SReR) 3R
<ufs ¥ sifueR w1 g S| 39 i sl R R S sreie & H off @y feRen
a1 <9 T, fasRete, geel SR SHHT # Haifera | st el o we s
Qe Seren 1 e e 3R fRET sl ST SR SiRER) Yeehl @ 1t e | :

34.1 Few Tu B & Sfarad GuRi < 37, T9 TR, faeskels, seoft o) st & Soifeee
ZR1 776 TR TTT e T GUR % AN H 30

34.2 3iiferE g R TT TF 3 & N H fafee fSed wh . Z
2 e Si Fafe T ek SR 1 o o

34.3 <7 FHROH 1 e Y foh T STERT 5T SiEeh Sradi :

3 T R T TR SewTe Sieg & forier & i wreet %mi?gjg

Jutionary principles
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Read the o
8lven extr
act g
Nd angwe, the following questions. ’

On-Conyens:
Ventiona] Sources of Energy

i . g Consy :

InCrea mpt \

and ;;n gly dependenfof ? Of- energy has resulted in the country becoming
Sasand th 08l fuels such as coal, oil and gas. Rising prices of oil

eir poteny
i als . f Rl )
Ply in future hor tages have raised uncertainties about the security

v
a

|

‘Q

P/

"’4

>

o)

Y

| of Whicl 3

; the nationa| €Conomy, Which in turn has serious repercussions on the growth
)

)

)

)

)

)

)

)

)

-

|
i

envir ‘eover, i i i .
NVIronmenty] Problems I-?l eover, Increasing use of fossil fuels also causes serious
sources like solay o thereis a pressing need to use renewable energy
Wlpd, tide, biomass and energy from waste mater ial.
entional energy sources;

the largest Programmeg foblmdance of sunlight, water, wind and biomass. It has

r the devel
35.1 How solar €nergy can co opment of these renewable energy resources.

ntribute in environment conservation ? 1

35.2 Wh i -
atare fossil fuels ? Give one example. o3l

! s .
35.3 'Thereisa pressingneed to use renewable energy resources. Why ? Give2 points. 2

) TRET N B i A f e e # -

’ TR-TWRET St & e

| STl o G SUHRT = T I h1awell, Iet 31K e S Sirameet S W sreafess ek = e
; T 9 9 G it TGl BITdl 9 AhT GTeT AT 3 wfers § St gl gean &
stffyaaant S X S &1 3He T srferawen it gig W HR yuE ved &1 6
arfees Shameet oMl o1 FarT TR TaieRui FHEI Scae HT § 1 374 el Ay
o7t e S - OR el e Setl, S S, Siferh St qe STafe uere it st
¥ IYST A1 TTgd A &1 A Foll o - HHT el €|

qu,aaamsﬁawmaﬁﬁm%l ga B TR0 A St et
%ﬁwmﬁﬁmmﬁn e
351Wﬁ%@?ﬁﬁ,wﬁ?ﬂﬁ?ﬂﬁ%@¢@%m%?

35.2aﬁarsq?gmwa?f%? T 3 ST

i @ g SRR § 1 X Rl R TR ? ) serew G | |
35.3  sefyepr A S 6 e
I o S SRR |
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36.

) ) ) ] . e . where
36.1 Which form of hierarchical social division is seen every g

. ions.

Read the given extract and answer the following e ity of women is
Public/Private division 2 50 ponsiblhf}’ o SION OF

Boys and girls are brought up to believe that the mal inaS XUAL DIV okin

housework and bringing up children. This is reflecte uchas € S

LABOUR in most families: women do all work in C}1-1611.911, etc., and men do eill
cleaning, washing clothes, tailoring, looking after c é] housework; they s;m%) 4
the work outside the home. It is not that men cannot 1? n these jobs are paid for,
think that it is for women to attend to these things. W recooks in hotels are men.
men are ready to take up these works. Most t.a1lor5 o home. In villages, women
Similarly, it is not that women do not work outside their oas, poOT womenw 01_‘k
fetch water, collect fuel and work in the fields. In urb?éldeiz lass women work in
as domestic helper in middle class homes, while mi ¢ paid work in addition to
offices. In fact the majority of women do some sort of p { get recognition. The
domestic labour. But their work is not valued and does no gnstitu’fe half of the
result of this division of labour is that although women ,Crg 4] in most societies.
humanity, their role in public life, especially politics, is mini R

recognised in the study of politics ?

36.2 Who is a feminist ? .
_— ' in different
36.3 What were the main objectives of the women's agitation for equal rights

parts of the world ? T
ST T &ia 1 9 o = fRw T e Hr S S -

it oi wrelifen AT farsmsT PO,
ek IR AR F Ter-d & s H T Wi 9 7 H Fe1 & Wl § R SARAl
et Fomiar Teeell <o Sl ST w1 e R ¥ 1 I8 =S St UReRl <R
I < TN TIIH W Fererd! ©1 3RS =) % 37X &l W hH &, @@—WWW
T, S UHT AR T i T FET S HAT § Sl e TR & e hl W S|
e T & o e A TR T T TR | e A G § o O i ) e SR
TSR | RS TeTs-wher 9 oot 321 SR il o for 39 firer € o o geit—gelt @i &
R AR FE | i o A St 3 TR 96 2h ¥ 1 S YRR SiRE TR ST
S T HWH Bi- T o T § | e § el I IR Setle Ye 9 SR Od B We a5 &5
HH S T ﬁwé&%%ﬁﬁinﬂasﬁﬁmﬁnm&ﬁavﬁmﬁﬁwﬁwm
F @ & R AeAHea T 1 T F A SRR WY | T 7w o aifrener wfsemy
39 €] M ok AR AT AT % 11T 5 7 9 FW Fadt § IfeT 9% 19 =
ST eI el AT Sl 3R 3% {7 T 6 ik off St 39 =1} fiyeran |
émé?sl:r'ataé;ﬁrmwaﬂqqﬁmaggan%ﬁaﬁm?hmﬁ%r@mﬁﬁﬁmzé;rgﬁ
T SR AT 1 WrelSies Sier qEu % hes H o7 AT )

36.1 wﬁ%mmaﬁqmmammm%ﬁﬁmwﬂﬁ%awmﬁwé

g 91d ] YA &I Il § 2

36.2 AR HIF € ?

36.3 faxa & fafs= Wﬁwﬁuﬂ%mmﬁ%m%g@mwm
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SECTION -F
Map Skill Based Question

Qs - ¥
T SR yTet ST W

2+3=5

utline map of India. [dentify
141=2

37.1 Two places A & B have been marked on the given 0
them.

and write their corr
eir correct names on the lines drawn near

(A) A place associated with the cotton mill worker's sa
cember 1920.

tyagraha.

(B) A place where Congress session took place in De

37.2 On the same outline map of India locate and label any THREE of the following .
1+1+1

with suitable symbols.
(a) Bhakra Nangal dam (loc

(b) Identify the major sugarcane producing state
hnology Park (locate an

ate and label)

() Chennai Software Tec d label)

(d) Kochi port (focate and label)

) (e) Identify the major jute producing state

) .
are for Visually

) NOTE: The following questions
of Q.No.37. Attempt any
isobedience Move

)
y 37.1 Name the state where CivilD

. 1ates only inlied

i held in 1927.

peration movement took place.

where calling off of the Non-Co0

3 37.3 Name the state
is located.

o 37.4 Name the state

9 375 Name the stat® where BO
ional Airportis located.

nere Rajiv G

37.6 Name the state W B
21
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— Tz

37.1 2 (A) sl (B) g s 3 s & off e ¥ 1 9 T ST
e 37k T i 7 Yl w fafe
(A) - & T W Gelt et firer el 3 weTE @ 91 ¢ |
(B) - & T el fawer 1920 W Wty Tt <hidre i sferrer get ol

37.2 T T T S - e e 4 ot A o g Pl A A
WWW:
(a) WREST AT S| (Tl T 39K ereret )
(b) THE T SEE T i TEA |
(c) TS HITEATR TeTetst ureh | (el &g SR e )
(d) <RIt 9T (U T 3R oae ) |
(e) THE S SUIGh A Tl T e |

e : Frafafaa wo et ghveim wenfi 3 fTg goT Ge 37 & WA WY fhd
ﬁmuﬁ%w%f@q:
37.1 39 T 1 W fafay, s @ afama s1am sticier i JeeTd 8 |

37.2 39 T4 1 AW fafay, Sl 9RadE T8 w9 &1 AEyE 1927 § st e |
37.3 39 59 o1 A4 fafay, st STHedrT Seier i 99d o § wrEied §
37.4@@@%%@@@%6‘?&@3%1

37.5 39 o4 1 T fafae el sl 36T |95 e © |

37.6 39 T 1 A fArae s/l Tsita e gy fomm oo feem ¥

-00o0-
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